morales (am226923) — Substitution Problems — martines — (53395)

This print-out should have 13 questions.
Multiple-choice questions may continue on
the next column or page — find all choices
before answering.

001 10.0 points

Evaluate the integral

/3
I = / (6sin 2x 4 2 cos 2x) dx .
™

002 10.0 points

Evaluate the integral

1
I:/ 5z (1 —2%) da .
0

5
At
4
22—t
_2
4
61— O
8

003 10.0 points

Determine the integral

I = /4x(3+2x2)4dx.

(3422%)° +C

-

@1: %(3-1—23:2)54-0

/&./I = —%(3-1—23:2)54-0
AT =

~(3+22%)°+C

1
AT = Z(3+2a;2)4+0

004 10.0 points
The graph of f has slope
d,
d_f = ov222+1
x

and passes through the point (2, 2). Find the
y-intercept of this graph.

1/ 9

. y-intercept = —=

3

/{ y-intercept = —2
/ ) 8
3. y-intercept = —3

4
/{ y-intercept = —3

7
@—intercept = —3

005

10.0 points

Evaluate the integral

I = /a:Q\/aj3+7da;.

P (a:3+7)3/2+0

1
9
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2T =308 +7) 40 AT = 3cos(3— %) +C

1 ;
/3./123(1'3+7)3/2+C 2.I:—§sm(3—t)+0

A/. I = cos(3—t3)+C
1 =
/ /4./1: —sin(3— ) +C
i

1/2
(&*+7)""+C /5(1 = —3cos(3-t3)4+C

@+7) +C

I ©OIN O =

006 10.0 points 009  10.0 points

1

@ +7) +C /6./1: “sin(3—13) + C
Determine the integral

Determine the integral

3

9 I = /cos5a:sin:cda:.

A .
(14 4x)

1
1 /I./I:ZSin4a:—|—C'

T
A= Saga ¢

Z-/I:—%-FC A

8(1 + 4z)

1
1 @I = ——cosbz+C
3l = ———+C 6

4(1 + 4x)?

1
1 }./I:—sin‘r’x-l—C
4(1 4+ 4x)?

1
/5{]: ¥+O /'{I:—ZCOS%wLC

1
= —gCOS5IE+C

8(1 + 4z)?

1
1 /I:—sin6x+0
/G./I:74—|—C 6

4(1 + 4x)

010 10.0 points
007 10.0 points
Determine the integral

Evaluate the definite integral x—4
I = 5 1 dx.
5 9y 7 (x? — 8z — 6)
1 = / 77 = dx . . ) 5
1 T —x
=
\\ 3\z2 —8x —6 +0C

008 10.0 points \3\ L 1 1 3

Determine the integral Y (332 — 81 — 6) +C

=/ # — %) dt. &\,‘:_1;3
/ COS(3 ) g 8(:(:2—833—6) +C
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011 10.0 points

Determine the integral

,ﬁ./l = %+5cos(%)+0

012 10.0 points

Evaluate the integral

I :/3seCGxtanxdx.

\I: %sec7x+0
I 5

\Y\I = icsc z+C
1 6

I = Qsec z+C

\l\I: gsec5x+0

3
\KI = gcsc5x+0

I = %csc7x—i—0

013 10.0 points
Find the value of the integral

e /mwdw-
0 cos? x

XTI = -3

P
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